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Real Analysis — Part s7
Integration by substitution
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ifferentiable
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Remember: X = ¢(t)
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Proot: Let F: T — [R be an antiderivative of ‘)C

chain rule

(Fod)(t) = Fl0) 4w = 560) 6w
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Another substitufion vule: 5:: l:qIL:I% R continuous , 4): J N continuously
differentiable

\).l— QIR intervals | IQI:O\,L:I and bijective

b 50
§ 50 dx = Lﬁ (6(6)) - 4'(t) dt
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Example: j‘ 1 A Try: ¢(t) = .{Ln(t)
Lelo1) - = ~ substifution: X = Sf.n(t) | .
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= Cos(£) db = V1 g4t = in (b
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Cos(ﬁ)

trg G(t) = son(t)
substitution: X = Sdh(a
dx = Cos (‘c) At



